REVISION AND PRACTICE WORK
NAME:  _________________________
Calculating Costs, Revenues, Profits, Contribution and Breakeven
Formulas you need to know:

Profit:    




Sales Revenue – Costs

Sales revenue



Selling Price x Quantity sold

Costs





Fixed Costs + (Variable cost per unit  x Quantity sold)

Contribution
 per unit


Selling price per unit – Variable cost per unit
Total contribution



Total Sales revenue – Total variable costs
Breakeven Quantity


Fixed Costs / Contribution

Revenue at Breakeven quantity 
Breakeven quantity x Selling Price
Margin of Safety



Actual output  -  Breakeven output (quantity)
1. Explain what it meant by profit. 2 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2. What is the difference between a fixed cost and a variable cost?  give examples   4 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
3. How are variable costs calculated?  2 mark
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
4. Explain, using an example, what is meant by sales revenue? 2 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
5. What is meant by contribution?  2 marks
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
6. Explain what is meant by the breakeven point?  3 marks
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
7. What happens contribution after the breakeven point? 2 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
8. What is meant by the margin of safety?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
9. Explain 3 ways a business can improve its profits?  6 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
CALCULATION PRACTICE

1(a)
What is the formula for calculating profit?

_____________________________________________________________________________________________

(1 mark)

(b) Footie & Co sells footballs priced at £7 each.  In a month they sell 150 footballs.  Calculate their sales revenue for the month.










____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________













(2 marks)
2
Charlotte’s sells soft toys priced at £4.25 each.  Their average sales per month in 2010 were 220.  Calculate 
their revenue for 2010.










____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 












(3 marks)

3
The revenue of Coffee to Go in 2010 was £545,000.  Their total costs were £285,000.  Calculate their profit (loss) for 2010.











____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 












(2 marks)

4
Sergio LTD made a profit of £25,000 in 2010.  Their revenue was £13,000.  Calculate their total costs.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 












(2 marks)

5
In 2010 Ahmed’s Toys had a revenue of £35,000, fixed costs of £12,000 and variable costs of £8 000.  
Calculate their profit (loss) for 2010.








____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 












(3 marks)
6
How are a business’s variable costs calculated?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________













(2 marks)
7.
Energise has fixed costs of £10 000 per month and variable costs of £0.75 per energy bar made. It sells 

1 500 bars per month. 
a. What is its total costs per month?
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________













(3 marks)
b. Energise sell each energy bar made for £3.00, How much profit will they make if they 2,000 bars per month?
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
(3 marks)
8. What is the formula for calculating contribution?

_____________________________________________________________________________________________
(1 mark)

Pat’s Pastries has sales of 250 units, a sales revenue of £26 000, total variable costs of 
£12000 and total fixed costs of £5000 (all annual figures).  Calculate:-

a)       the total contribution









______________________________________________________________________________________________________________________________________________________________________________











(2 marks)


(b)
the contribution per unit









______________________________________________________________________________________________________________________________________________________________________________











(2 marks)

(c)       the profit (loss).










______________________________________________________________________________________________________________________________________________________________________________











(2 marks)

9
(a)
What is the formula for calculating breakeven?

1 mark)

_____________________________________________________________________________________________
(b) Krishna Inn has annual fixed costs of £150 000 and a contribution per unit of £5.

Calculate the break-even quantity.
__________________________________________________________________________________________________________________________________________________________________________________________

 












(3 marks)

10.
With a selling price of £3.50 Samsons sells 300 items.  The fixed costs are £500 and variable costs per unit are £1.00.  Calculate:
(a) the contribution per unit









_____________________________________________________________________________________________________________________________________________________________________________

(4 marks)

(b) the break-even quantity









_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(3 marks)

(c) the revenue/costs at breakeven










_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(3 marks)

11.
The forecast financial data for the first year of Prestige Car Rental Service (with driver) are:

	Item
	Forecast Revenue/Cost

	Fixed costs
	£25,000 per annum

	Variable cost per customer
	£30

	Average spend (revenue) per customer
	£100


(a) Calculate the contribution per unit






____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(2 marks)


(b)
Calculate the break-even quantity








____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

 
(3 marks)

(c)
Calculate the expected profit from Prestige Car Rental Service’s first year of trading, 
based on the assumption that it will attract 450 customers.


 ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

 












(5 marks)

12.  Figure 1: Forecast break-even for Strictly Sushi.  


[image: image1.emf]020004000600080001000012000140001600018000200000100200300400500600700800



Figure 1 shows Mr Ikitar’s weekly break-even forecast for his new restaurant Strictly Sushi.

a) Fully label the chart.  






6 marks
b) What are his forecast fixed costs?





(1 mark)

__________________________________________________________________

c) What is his forecast break-even point?




(1 mark)

__________________________________________________________________

13.
Read the following passage carefully and then answer the questions that follow:


a) What is meant the term break-even point?






2 mark

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b) Sony’s fixed costs for the PlayStation 3 are £2 400 000 and variable costs are £!40 per console.

i) Calculate the break-even point when the PlayStation 3 was priced at £300.  Show your workings and the formula used.  








3 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
ii) Calculate the level of profit or loss Sony would have made if it had sold 20 000 PlayStation 3 consoles at £300.  Show your workings and formula used.   



3 marks

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c) Identify two problems Sony could have as a result of reducing the price of PlayStation 3 to £250.  For each problem explain how it would affect Sony.






8 marks

Problem 1

_____________________________________________________________________________________________
Explanation: ___________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Problem 2

_____________________________________________________________________________________________
Explanation: ___________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________































Sony Play station 3 console has struggled against strong competition from Nintendo’s Wii.  The Wii was not only offered at a lower price but also targeted a wider market.


It originally cost Sony £430 ot make a Sony PlayStation 3.  Due to increased productivity this ahs now fallen to £140.  In August 2009 Sony reduced the price of its Playstation 3 form £300 to £250.


The fall in the cost of producing the console has allowed PlayStation 3 to move past its break-even point.  However, Sony expects to make a loss of over £680 million in 2009.  This is because others areas of its business such as MP3 players and flat screen televisions have not performed very well.  To combat this, Sony plans to cut 8000 jobs and close several factories.
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Sheet1

				Total Cost		Total Revenue

		0		3000		0						0		3000

		100		4200		2200						100		4200

		200		5400		4400						200		5400

		300		6600		6600						300		6600

		400		7800		8800						400		7800

		500		9000		11000						500		9000

		600		10200		13200						600		10200

		700		11400		15400						700		11400

		800		12600		17600						800		12600

				To resize chart data range, drag lower right corner of range.






